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QUESTION 1

Refer to the exhibit. 

Based on the output, which two conclusions are true? (Choose two.) 

A. The all_rules rule represents the implicit SD-WAN rule. 

B. There is more than one SD-WAN rule configured. 

C. Entry 1 (id=1) is a regular policy route. 

D. The SD-WAN rules takes precedence over regular policy routes. 

Correct Answer: BC 

 

QUESTION 2

When attempting to establish an IPsec tunnel to FortiGate, all remote users match the FIRST_VPN IPsec VPN. This
includes remote users that want to connect to the SECOND_VPN IPsec VPN. Which two configuration changes must
you make on both IPsec VPNs so that remote users can connect to their intended IPsec VPN? (Choose two.) 

A. Configure different proposals. 
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B. Configure a unique peer ID. 

C. Change the IKE mode to aggressive. 

D. Configure different Diffie Hellman groups. 

Correct Answer: BC 

https://kb.fortinet.com/kb/documentLink.do?externalID=10114 

 

QUESTION 3

Refer to exhibits. 
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Exhibit A shows the firewall policy and exhibit B shows the traffic shaping policy. 

The traffic shaping policy is being applied to all outbound traffic; however, inbound traffic is not being evaluated by the
shaping policy. 

Based on the exhibits, what configuration change must be made in which policy so that traffic shaping can be applied to
inbound traffic? 

A. The reverse shaper option must be enabled and a traffic shaper must be selected 

B. The guaranteed-10mbps option must be selected as the reverse shaper option. 

C. A new firewall policy must be created and SD-WAN must be selected as the incoming interface. 

D. The guaranteed-10mbps option must be selected as the per-IP shaper option 

Correct Answer: A 

 

QUESTION 4

Which two statements reflect the benefits of implementing the ADVPN solution to replace conventional VPN topologies?
(Choose two ) 

A. It creates redundant tunnels between hub-and-spokes, in case failure takes place on the primary links. 

B. It dynamically assigns cost and weight between the hub and the spokes, based on the physical distance. 

C. It ensures that spoke-to-spoke traffic no longer needs to flow through the tunnels through the hub. 

D. It provides direct connectivity between all sites by creating on-demand tunnels between spokes. 

Correct Answer: CD 

 

 

QUESTION 5

Refer to the exhibit. 

Which two conclusions for traffic that matches the traffic shaper are true? (Choose two.) 
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A. The traffic shaper drops packets if the bandwidth exceeds 6250 KBps. 

B. The traffic shaper limits the bandwidth of each source IP to a maximum of 6250 KBps. 

C. The traffic shaper drops packets if the bandwidth is less than 2500 KBps. 

D. The measured bandwidth is less than 100 KBps. 

Correct Answer: AD 
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